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QUESTION 1

Your system is upgraded from Oracle Database 10g to Oracle Database 11g. You imported SQL Tuning Sets (STS)
from the previous version. After running the SQL Performance Analyzer for optimizer version change, you observe
performance regression for a few SQL statements. What would you suggest to avoid performance regression for these
SQL statements? 

A. Include the old plans in the SQL plan baseline. 

B. Use DBMS_SPM.EVOLVE_SQL_PLAN_BASELINE to evolve plans. 

C. Set the OPTIMIZER_USE_PENDING_STATISTICS parameter to TRUE. 

D. Increase the value for the OPTIMIZER_DYNAMIC_SAMPLING parameter. 

Correct Answer: A 

 

 

QUESTION 2

There are 500 users of an online transaction processing (OLTP) application that resides in your database. The system
had been maintaining an average response rate of 10 seconds as specified by the Service-Level Agreement (SLA).This
morning you were informed that for the past four days the average response time has gone up to 15-20 seconds. No
changes have been made to the hardware or networking setup.What is the first thing that you should do to diagnose the
cause of the slow response time? 

A. Determine whether it is a memory configuration issue. 

B. Determine whether the slow response is wait bound or CPU bound. 

C. Determine whether the application is performing excessive I/O due to poor access path choice. 

D. Determine whether new tablespaces have been created on the disks that are being used by the existing
tablespaces. 

Correct Answer: B 

 

 

QUESTION 3

You are working on a database that was upgraded to Oracle Database 11g from Oracle Database 9i. An ADDM finding
in this database says that the shared pool is inadequately sized, as shown in the Exhibit. 
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You diagnosed that this is due to different kinds of workloads and this occurs only during peak hours. The following are
the related parameter settings: SQL> show parameter sga name TYPE VALUE ------------------------------ ---------------
----------------- lock_sga boolean FALSE pre_page_sga boolean FALSE sga_max_size big integer 300M sga_target big
integer 0 SQL> show parameter target name TYPE VALUE ------------------------------ --------------- ----------------- .....
fast_start_mttr_target integer 0 memory_max_target big integer 0 memory_target big integer 0 pga_aggregate_target
big integer 100M sga_target big integer 0 

You want to balance the memory between the System Global Area (SGA) components within the SGA depending on
the workloads. Which two options would solve this problem? (Choose two.) 

A. Set the SGA_TARGET parameter to 300M. 

B. Set the SGA_MAX_SIZE parameter to 400M. 

C. Set the MEMORY_MAX_TARGET and MEMORY_TARGET parameters to 400M. 

D. Set the MEMORY_MAX_TARGET and MEMORY_TARGET parameters to 100M. 

E. Set the PGA_AGGREGATE_TARGET parameter to 200M and the SGA_MAX_SIZE parameter to 400M. 

Correct Answer: AC 

 

 

QUESTION 4

Which two statements are true about the database buffer cache? (Choose two.) 

A. A buffer can be written to by many processes at the same time. 

B. A buffer containing a block that is identical to the block on disk is called free buffer. 

C. A buffer containing a block that is being accessed by a process is called dirty buffer. 

D. A buffer available to be overwritten with a different database block at any time is called a dirty buffer. 

E. A buffer can contain a different version of a block that is available in a different buffer of the same cache. 

Correct Answer: BE 

 

QUESTION 5
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Identify the situation in which you would use the Automatic Workload Repository (AWR) baseline template. 

A. when creating AWR snapshots based on a repeating time schedule 

B. when creating and dropping AWR baselines based on a repeating time schedule 

C. when computing statistics for all moving window baselines based on a repeating time schedule in the future 

D. when resetting the threshold values for the SYSTEM_MOVING_WINDOW baseline based on a repeating time
schedule in the future 

Correct Answer: B 
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